Flood defences at Boscastle

1. What is the problem with building on this
site?

Catchment management

2. What has been done to reduce flooding in Boscastle?

The river is wider so....

Trees have been cut back because



3. This is debris screen.
How will it help stop flooding?

4, Why is important to keep it clean?

5. Hard and soft engineering strategies are used to manage flooding.
Choose either hard engineering or soft engineering and explain why it is the better strategy.
Chosen strategy (6 Marks)

The main reason | chose was because

The other reason | chose was because




